- - 2 _
=2 KoL 20 s Aoy,

2x2—5x+3+2x2+x—6+x2+x—2

5
=%



x(x+2)
2

(x+2)(x+3)
3

x(x+3)




il d

ta+b=

Ct
=]



TR






y
o g+

D1

x—-1
b o] 27

@ 3






— b — =
BTy = e TATI ohg 293 2 o, FelEs

y= Vex+a+ b9 T} A= AFRHE BT S6HH?

yl\
l\ z,
0] 2 S

@ ALAREH @ A2AEH ® ABAREH

@ A4t ® A1, 2AHEH



9.

y = —Vax+b + ¢ 9] 1z o] 73] ot
J-N ZE W, a+b+co FH2?

@ o @1 3 2 @ 3 ® 4

Y



i
ol
B
o1

e

|
.

oo

Vx+3

@ y=x"-3(x<1)

@y

D©y=x2+3

®y=x*+3(x20)



ol

A
_ﬂ_
bk
=
ol
w
o|J

ofig

‘BO
T

<H7]> 9

§(0) = -1

L. f(0)=
f(x) <] =4
tfjsto] T3 olrt.

I.y

°f

AR I

=

ey = g(x) o 27

B

Shy = g(x+1) o DEme] B

1T

= fx-1) o] 2
= 2t

d

M. y
X

I

©)

I s

@

I

® I,I,II

I, I



=Y
1 |
a .
o g
-~
+a%ﬂ ol
1|0} ,__w
tr
[ o o|
-, Mo 7o
< OE ~
a_m oy ﬂ
oo H
uld W JTW
ol o
™= mm
s 3
o H =
TR S




13.

x?#1°]1 f(x) =

fx)
@ —f(-x)

x+1
x—1

olgt & uf f(-x)E?

@ -f(x)
© fl(x)




1,g(X):ﬁ+1%1‘IH,Osxs40ﬂA1

1

X+

fr g7t f(x) =

1
\:l'/‘l\_y

5}

[)

0 | <H

@ 1



